Whitman College 
Econ 308 
Final Exam 
December 14, 1999 



Write all answers in your blue book. Show all of your work. 






1. Consider the following information about a hypothetical economy. The labor force is 10,000 and the capital stock is 4,000. The labor force grows at the rate 0.03. Labor-augmenting technology grows at the rate 0.01. The depreciation rate is 0.05. The equilibrium wage is 14, the equilibrium rental price of capital is 11, and the price level is 110. Use the Solow Growth Model with labor-augmenting technology to answer the following questions. Assume the economy has reached a steady-state. 
(a) (10pts) At what rate does real aggregate output grow? 
(b) (10pts) At what rate does per capita real aggregate output grow? 
(c) (20pts) Is this economy in the golden rule steady state? If not, is at operating with more or less capital than the golden rule capital stock? 




2. (a) (5pts) Define wait unemployment. 
(b) (15pts) Describe the causes of wait unemployment that Mankiw cites in Macroeconomics. 




3. (a) (10pts) List the assumptions of the Classical Quantity Theory (CQT). 
(b) (10pts) Suppose that the CQT holds. Consider an economy in which the natural rate of output grows at 4% per year. If policy makers have price level stability as their goal, will they hold the money supply constant? Explain. 




4. (a) (5pts) Define the IS curve. 
(b) (10pts) What sort of macroeconomic questions will the IS-LM model let you answer? 
(c) (10pts) What sort of macroeconomic questions would the IS-LM model not let you answer? 




5. Assume that the Natural Rate Hypothesis holds. 
(a) (10pts) Draw a long-run aggregate supply curve. 
(b) (10pts) Draw a long-run Phillips curve. 

6. Consider the information on a hypothetical economy given in the table below. This economy has the Cobb-Douglas production function Y=AK L 1-, where A represents total factor productivity, K is the amount of capital employed, L is the amount of labor employed, Y is the real aggregate output, and =0.4. 

Table 1: Percentage changes in inputs and output for a hypothetical economy 

	
	%K
	%L
	%Y

	Average over the past 30 years
	2.4%
	1.2%
	3.5%

	A typical year in a recession
	1.8%
	1.0%
	-1.0%

	A typical year in an expansion
	2.6%
	1.3%
	5.0%

	
	
	
	



(a) (5pts) Calculate the average percentage change in total factor productivity (%A) over the past 30 years. Recall that the percentage change in total factor productivity is also known as the Solow Residual. 
(b) (5pts) Calculate the percentage change in total factor productivity (%A) for the typical year of recession. 

(c) (5pts) Calculate the percentage change in total factor productivity (%A) for the typical year of expansion. 

(d) (15pts) Real Business Cycle (RBC) theories claim that shocks which increase labor productivity cause expansions, and shocks that decrease labor productivity cause recessions. Consider the evidence from the table above on the connection between technology shocks and the business cycle. Does this evidence support or refute RBC theory for this economy? Explain. 




7. (20pts) Suppose that a particular economy has a nominal interest rate of 6.5%, an inflation rate of 4.0%, and a depreciation rate of 5.0%. Its labor supply grows at an average annual rate of 2.5% and its real aggregate output grows at an average annual rate of 3.5%. Suppose that the government initially runs a balanced budget. Then, the government increases expenditures on pensions for the elderly, without any change in tax rates. If the increased expenditures are permanent, will the government be forced to raise tax rates at some point in the future? Explain. 




8. (a) (15pts) Describe the short-run and long-run data on average propensity to consume (C/Y) in the United States. What puzzle does this data present? 

(b) (10pts) How does Modigliani's Life Cycle Hypothesis resolve this puzzle?
